Bangladesh Swimming Federation

Syed Nazrul Islam National Swimming Complex Mirpur, Dhaka-1216

Minutes of the 3rd meeting of the Executive Committee of Bangladesh Swimming Federation

The 3rd meeting of the present Executive Committee of Bangladesh Swimming Federation was held on Wednesday, May 10, 2023 at 10:30 PM at Naval HeadquarteTaka, Banani, Dhaka. The meeting was presided over by Honorable President of Bangladesh Swimming Federation and Chief of Navy Admiral M Shaheen Iqbal, NBP, NUP, NDC, AFWC, PSC.

MembeTaka present at the meeting:

Mr. Engineer Golam Mohammad Alamgir Senior Vice President

Mr. Tarafdar Md. Ruhul Amin Vice President

Mr. Md. Abdul Hamid Vice President

Mr. MB Saif General Secretary

Mr. Md. Salim Mia Joint - Editor

Mr. Md. Amirul Islam Joint Editor

Mr. MTaka. Rezaul Hossain Badsha Treasurer

Mr. AKMA Hasan Firoz Member

Mr. GM Rezaul Islam Member

Mr. Tapan Chand Member

Mr. S. A. M. Achlam MoTakahed Member

Mr. Anjuman Ara Begum Member

Mr. Nibedita Das Member

Mr. Mahmuda Sharif Member

Alhaj HR Khan Pathan Sakhi Member

Syed Saleh Ahmed Member

Mr. Md. Mokhleshur Rahman Howlader Member

Mr. Mohammad Moniruzzaman Member

Mr. A.K.M. Farooq Member

Mr. Abul Hashem Member

Mr. Md. Tariqul Islam Member

At the beginning of the meeting, President of Bangladesh Swimming Federation Admiral M Shaheen Iqbal, NBP, NUP, NDC, AFWC, PSC congratulated the all membeTaka of the Executive Committee of Bangladesh Swimming Federation. He expressed satisfaction with the activities of Bangladesh Swimming Federation. The President of International Swimming Association World Aquatics Bangladesh was thanked sincerely on his arrival. Sheikh Kamal is sincerely thanked for organizing the swimming competition of the 2nd Bangladesh Youth Games at the Bangladesh Navy swimming pool and organizing the swimming competition in the presence of the President of Finland. He expressed various promises for the development of swimming in Bangladesh.

After the welcome speech, he requested the general secretary to conduct the meeting according to the agenda. The general secretary started the agenda of the meeting.

| Serial | Details | Taka |
|--------|---|---|
| | TA | 5,40,000.00 |
| | 1.1. SwimmeTaka (450) Taka 1,200/- (average) | |
| | 1.2. Team Official (100 people Taka 1,200/-) | 1,20,000.00 |
| | 1.3.) Meet Official (100 people Taka. 1,200/-) | 1,20,000.00 |
| | | |
| | 1.4. Water polo team (52 people Taka. 1,200) | 62,400.00 |
| | 1.5. Diving team (20 people Taka. 1,200) | 24,000.00 |
| | D.A | 10,12,500.00 |
| | 2.1. SwimmeTk. (450 per Tk. 450/- 5 days) | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |
| | 2.2. Team Official (100 people 450/- 5 days) | 2,25,000.00 |
| | 2.3. Meet Official (100 people 450/- 5 days) | 2,25,000.00 |
| | 2.4. Water polo team (52 people 450 3 days) | 70,200.00 |
| | 2.5. Diving team (20 people 450/- 2 days) | 18,000.00 |
| | 3. Meet officials' honorarium (100 people 4 days 500/-) | 1,20,000.00 |
| | TA | 5,40,000.00 |
| | 4.1. SwimmeTk. (450) Tk. 1,200/- (average) | , , |
| | 4.2. Team Official (100 people Tk. 1,200/-) | 1,20,000.00 |
| | 4.3.) Meet Official (100 people Tk 1,200/-) | 1,20,000.00 |
| | 4.4. Water polo team (52 people Tk 1,200) | 62,400.00 |
| | 4.5. Diving team (20 people Tk 1,200) | 24,000.00 |
| | 5. Entertainment during 4 meets | 1,00,000.00 |
| | 6. Entertainment of media member. | 5.50,000.00 |
| | 7. Medals (225 Tk 350/-) | 78,750.00 |
| | 8. Crest | 50,000.00 |
| | 9. Trophies (Team, Runner Up, Individual Boys+ Girls) | 30,000.00 |
| | 10. Shirts (500 pieces Dh 200/-) (150 pieces 400/-) | 1,60,000.00 |

| Ť | 11. Souvenir/Identity Card/Ribbon/Invitation Card & | 60,000.00 |
|---|---|--------------|
| | • | 60,000.00 |
| | Envelope | |
| | 12. Banner., festoons, balloons, flower. | 15,000.00 |
| | 13. Press Conference | 50,000.00 |
| | 14. Stationery | 15,000.00 |
| | 15. Decorations | 50,000.00 |
| | 16. Swimming Pool Maintenance | 50,000.00 |
| | 17. Swimming pool, sports village employee remuneration | 30,000.00 |
| | 18. Local travel expenses (for conducting diving and other) | 10,000.00 |
| | 19. Documentation (Still Photograph) | 5,000.00 |
| | 20. Honorarium of the member of the 19 Federation | 1,50,000.00 |
| | 21. Miscellaneous | 15,000.00 |
| | Total | 34,55,850.00 |

Signature

Admiral M. Shaheen Iqbal

NBP, NUP, NDC, AFWC, PSC

President, Bangladesh Swimming Federation

And Navy chief

MB Saif

General Secretary

Bangladesh Swimming Federation